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Find the correct answers (a, b, ¢, or d) and mark on your answer sheets.
I-A group of people of the same religion, race, occupation or nationality is called............. .
a-communication  b-community c-coordination d-conformity

2-The police will investigate the details of the accident. ‘Investigate’ means....... .

a-hide b-change c-help d-research
3-Manufacturers should put great importance on the......... erhy oraducts to
aftract more customers.

a-quality b-amount c-gravity
4-Actors leave socicty through expulsion, emigration, or...

a-death b-birth

a-ignore b-diversif d-separate
6- The police haven’t identified

a-killed

he bank yet. ‘Identified” means... .

c-punished d-proved

7-A model airplane is gsipiplified version of a highly ........ piece of machinery.
a-casy c-little d-complex

8-Functio gartl the problem of social........ as central to their whole analysis.
a-ord c-housing d-birth

9-He is the best student in the class and has a.............. mind
a-system b-systematize c-systematic d-systematically

10-Despite his poverty, he decided to fulfill his will to study rather than work. “Will’
means............

a-arena b-mind c-desire d-intact
11-They proposed a new plan for the recent social problem. ‘Propesed’ means.... .

a-stopped b-avoided c-received d-suggested
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12-Mary isthe ......... to her uncle after his death.
a-hair b-heir c-hear d-her

13- He shifted his way and went to left. ‘Shifted” means........... .

a-got b-offered c-cut d-changed
14-We define interaction as .......... social action.

a-sole b-mutual c-rare d-unusual
I5- Many famous ............ attended the conference.

a-educates b-educators c-education {30

16-Society isaformof................. .

a-organize b-organized -organizational
17- Would you please............ the form for me 7

a-complete b-completed d-completely
18- There are many people wit ere fie globe. ‘Globe’ means.... .

a-~soil b-air c-word d~world

19- They are going to...., £ an n for getting a job.

a-necessary ssity c-necessarily d-necessitate

20- Industriali he process by which societies are............ from dependence on agriculture

and ha ucts to industries.

a-stay b-transformed c-remained d-stopped
21- Her remarks about coming earthquake were......... .

a-notice b-notices c-noticed d-noticeably

22- The gradual development of plants and animals is called............. .
a-evaluation b-evolution c-revolution d-elimination

23- The branch managers have full autonomy in their accounts. ‘Autonomy’ means.......... .

a-braveness b-dependence c-independence d-carelessness
24- My sister telephoned me at 2:00 midnight and T answered her............. .
a-sleep b-slept c-sleepily d-sleepy
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25-Humans act according to existing patterns. ‘Existing patterns’ means....... .
a- e e sla &N b-ta &3 5042 ga C-_paala gta ales d-5 ) S sl alaa

26-he is spending his military training period. ‘Military’ means.......... .

a- JALLJ b- ‘519'.5&;.! C- (5“';'“1 d-‘_?gay.a;

27- His action was considered as political suicide, ‘Suicide” means........ .
p

-

a- A b- (and c- sl s d- S35

28-Contemporary life in an industrial society is different from agra :: hOne.

maeans........ .

a-_ralaa b8 C-7 paie
29-These conditions led to the development of socéai probleis suych as poverty, crowding, and

unsanitary conditions. ‘Unsanitary’ means.........

- idhags b-ANal e (-srasda s
30-Professor Miller is going to a léhe),. & means....... .
a- 4allae b- s d- e
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